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QUESTION 1

An administrator wants to ensure the VMs for two different departments are separated on a single
broadcast domain.

Which configuration fulfills this requirement?

A. PVLAN on Uplink Port

B. PVLAN on VMkernel Interface

C. PVLAN on VSS

D. PVLAN on VDS

Correct Answer: D

QUESTION 2

What is the default vCenter Server for a new user?
A. No Access

B. No Cryptography Administrator

C. Read-Only

D. Administrator

Correct Answer: A

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.7/com.vmware.vsphere.security.doc/GUID93B962A7-93FA-4E96-B68F-AE66D3D6C663.html

QUESTION 3

An administrator runs a vSphere cluster containing database VMs with extremely heavy disk 1/0. Database VMs are
placed on a costly all-flash array. The workloads are not memory intensive.

How can the administrator ensure the most cost-effective utilization of the all-flash storage array?
A. Enable Storage I/0O Control on the flash datastores.

B. Install VMware Tools on the database VMs to ensure the hypervisor can receive I/O metrics.
C. Use a VM-to-Host affinity rule to ensure database VMs are prioritized.

D. Edit the cluster settings to place the virtual machine swap file on a different storage tier.

Correct Answer: D
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Reference: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%2Fcom.vmware.vsphere.resmgmt.doc
%2FGUID-2D749168-6BEE-4218-B956-88980CE6AA9E.html

QUESTION 4

A vSphere Administrator wants to convert a vCenter Server instance with an external Platform Services
Controller to an embedded Platform Services Controller instance.

Which tool should be used to accomplish this?

A. VMware vCenter Converter

B. CloudClient Utility

C. Convergence Utility

D. Cmsso-util Utility

Correct Answer: C

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.7/com.vmware.vcenter.install.doc/GUIDA4E3C370-5F20-4A8D-9E66-FB45DD5CDDO02.html

QUESTION 5

When enabled, what ensures only signed drivers can load into a virtual machine?
A. Secure Boot

B. lockdown mode

C. micro-segmentation

D. TPM

Correct Answer: A

Reference: https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vsphere.vmc-aws-manage-
vms.doc/GUID-898217D4-689D-4EB5-866C-888353FE241C.html
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